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Based on the data in the table, answer the five questions that follow

The following table presents the percentage (%) distribution of candidates who were enrolled
for Ph.D. entrance exam and the candidates who passed the exam from seven different
Institutes A - G. Total number of candidates enrolled were 17100 and candidates who passed
the exam were 11400.

Institute-wise Percentage (%) Distribution of Candidates

Candidates— Enrolled (%) Passed (%)
Institute 1 (out of 17100) (out of 11400)
A 16% 12%
B 22% 18%
C 15% 17%
D 10% 13%
E 17% 16%
F 8% 9%
G 12% 15%

ARl # fdu e srieet ¥ YR WX Uyl ¥ I Sifem

fufafad aroft & a9 faftm Il (a-6) § Muadl uow wiien & fou 9mifea feuy e
gt @1 ufawa faavor ok gdan & 3ol gu srafial &1 ufaxd oo fear man g1 oa
rHifard gl B WEA 17,100 Ut SR GaT H il gu spafdial &t T 11,400 A1

Srafiigl &1 IRH-ar ufaea fadaem

el — (AT (%)) 30T (%)
TR 4 (17,100 5 W)|(11,400 7 )

A 16% 12%

B 22% 18%

C 15% 17%

D 10% 13%

E 17% 16%

F 8% 9%

G 12% 15%

What percentage of candidates passed the exam from Institute F, out of the total number
of candidates enrolled in F?




(1) 50%

(2) 62.5%

(3) 75%

(4) 80%

T £ ¥ oo TMifed onafial o 9 fieds wiawd sngelf wdien o Sdivi gu 2

(1) 50%
(2) 62.5%
(3) 75%
(4) 20%

1[Option ID=22601]
2[Option ID=22602]
3[Option ID=22603]
4[Option ID=22604]

Sl. No.2
QBID:352366




Based on the data in the table, answer the five questions that follow

The following table presents the percentage (%) distribution of candidates who were enrolled
for Ph.D. entrance exam and the candidates who passed the exam from seven different
Institutes A - G. Total number of candidates enrolled were 17100 and candidates who passed
the exam were 11400.

Institute-wise Percentage (%) Distribution of Candidates

Candidates— Enrolled (%) Passed (%)
Institute 1 (out of 17100) (out of 11400)
A 16% 12%
B 22% 18%
C 15% 17%
D 10% 13%
E 17% 16%
F 8% 9%
G 12% 15%

ARl # fdu e srieet ¥ YR WX Uyl ¥ I Sifem

fufafad aroft & a9 faftm Il (a-6) § Muadl uow wiien & fou 9mifea feuy e
gt @1 ufawa faavor ok gdan & 3ol gu srafial &1 ufaxd oo fear man g1 oa
Hifard gl @1 Wea 17,100 Yt SR wdign H il gu spafdial &t dwn 11,400 411

Safifgl &1 IeH-ar ufaea faaem

el — (AT (%)) 30T (%)
TR 4 (17,100 5 W)|(11,400 7 )

A 16% 12%

B 22% 18%

C 15% 17%

D 10% 13%

E 17% 16%

F 8% 9%

G 12% 15%

Which Institute has the highest percentage of candidates who passed the exam in
comparison to the candidates enrolled?

1) C

(2) D

3) G

(4) F




fore Ty o ot AHifehd Srafdal &t gon H Glian # Sl gu il &1 ufaed
Ta® § 2

(1) C

(2) D

(3) G

(4) F

1[Option ID=22605]
2[Option ID=22606]
3[Option ID=22607]
4[Option ID=22608]

Sl. No.3
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Based on the data in the table, answer the five questions that follow

The following table presents the percentage (%) distribution of candidates who were enrolled
for Ph.D. entrance exam and the candidates who passed the exam from seven different
Institutes A - G. Total number of candidates enrolled were 17100 and candidates who passed
the exam were 11400.

Institute-wise Percentage (%) Distribution of Candidates

Candidates— Enrolled (%) Passed (%)
Institute 1 (out of 17100) (out of 11400)
A 16% 12%
B 22% 18%
C 15% 17%
D 10% 13%
E 17% 16%
F 8% 9%
G 12% 15%

ARl # fdu e srieet ¥ YR WX Uyl ¥ I Sifem

fufafad aroft & a9 faftm Il (a-6) § Muadl uow wiien & fou 9mifea feuy e
gt @1 ufawa faavor ok gdan & 3ol gu srafial &1 ufaxd oo fear man g1 oa
Hifard gl @1 Wea 17,100 Yt SR wdign H il gu spafdial &t dwn 11,400 411

Safifgl &1 IeH-ar ufaea faaem

el — (AT (%)) 30T (%)
TR 4 (17,100 5 W)|(11,400 7 )

A 16% 12%

B 22% 18%

C 15% 17%

D 10% 13%

E 17% 16%

F 8% 9%

G 12% 15%

The number of candidates who passed the exam from E and B together exceeds the
number of candidates enrolled from F and D together by:

(1) 456

(2) 558

(3) 798

(4) 214




U= F 3R D, TFI H, o firaex Amifed srafdal o go1 & 9FE £ AR B, A H ga
fAreTee udian # Siivl gU SHE! ®f 9@ i e § 7

(1) 456

(2) 558

(3) 798

(4) 814

1[Option ID=22609]
2[Option ID=22610]
3[Option ID=22611]
4[Option ID=22612]

Sl. No.4
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Based on the data in the table, answer the five questions that follow

The following table presents the percentage (%) distribution of candidates who were enrolled
for Ph.D. entrance exam and the candidates who passed the exam from seven different
Institutes A - G. Total number of candidates enrolled were 17100 and candidates who passed
the exam were 11400.

Institute-wise Percentage (%) Distribution of Candidates

Candidates— Enrolled (%) Passed (%)
Institute 1 (out of 17100) (out of 11400)
A 16% 12%
B 22% 18%
C 15% 17%
D 10% 13%
E 17% 16%
F 8% 9%
G 12% 15%

ARl # fdu e srieet ¥ YR WX Uyl ¥ I Sifem

fufafad aroft & a9 faftm Il (a-6) § Muadl uow wiien & fou 9mifea feuy e
gt @1 ufawa faavor ok gdan & 3ol gu srafial &1 ufaxd oo fear man g1 oa
Hifard gl @1 Wea 17,100 Yt SR wdign H il gu spafdial &t dwn 11,400 411

Safifgl &1 IeH-ar ufaea faaem

el — (AT (%)) 30T (%)
TR 4 (17,100 5 W)|(11,400 7 )

A 16% 12%

B 22% 18%

C 15% 17%

D 10% 13%

E 17% 16%

F 8% 9%

G 12% 15%

What is the percentage of candidates who have passed the exam from C and D together
in comparison to the total number of candidates enrolled in the same two Institutes?

(1) 68%
(2) 80%
(3) 74%
(4) 65%




U= ¢ 3R D, aF 1 Ha B Amifed gu SH @1 go-T |, 37 aHi 9®iF 8 o
fArere? udian § il gu snafifal & ufaxd w8 2

(1) 68%

(2) 20%

(3) 74%

(4) 65%

1[Option ID=22613]
2[Option ID=22614]
3[Option ID=22615]
4[Option ID=22616]

Sl. No.5
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Based on the data in the table, answer the five questions that follow

The following table presents the percentage (%) distribution of candidates who were enrolled
for Ph.D. entrance exam and the candidates who passed the exam from seven different
Institutes A - G. Total number of candidates enrolled were 17100 and candidates who passed
the exam were 11400.

Institute-wise Percentage (%) Distribution of Candidates

Candidates— Enrolled (%) Passed (%)
Institute 1 (out of 17100) (out of 11400)
A 16% 12%
B 22% 18%
C 15% 17%
D 10% 13%
E 17% 16%
F 8% 9%
G 12% 15%

ARl # fdu e srieet ¥ YR WX Uyl ¥ I Sifem

fufafad aroft & a9 faftm Il (a-6) § Muadl uow wiien & fou 9mifea feuy e
gt @1 ufawa faavor ok gdan & 3ol gu srafial &1 ufaxd oo fear man g1 oa
Hifard gl @1 Wea 17,100 Yt SR wdign H il gu spafdial &t dwn 11,400 411

Safifgl &1 IeH-ar ufaea faaem

el — (AT (%)) 30T (%)
TR 4 (17,100 5 W)|(11,400 7 )

A 16% 12%

B 22% 18%

C 15% 17%

D 10% 13%

E 17% 16%

F 8% 9%

G 12% 15%

What is the ratio of candidates who passed from Institute B to the candidates enrolled in
the same Institute?
(1) 2:11
(2) 14:17
3) 6:1
(4) 9:17
Uy B H, 3l TRy H AHifcd rafial &1 gon | 3ol gu sl &1 sud # g 2




(1) 9:11
(2) 14:17
(3) 6:11
(4) 3:17

1[Option ID=22617]
2[Option ID=22618]
3[Option ID=22619]
4[Option ID=22620]

Sl. No.6
QBID:351472

Given below are two statements, one is labelled as Assertion A and the other is labelled

as Reason R

Assertion A : The purpose of 215 century Higher Education is to promote critical and
creative thinking abilities among students.

Reason R : Critical and creative thinking help students in placements.

In light of the above statements, choose the correct answer from the options given

below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A
(3) Ais true but Ris false

(4) Ais false but R is true

T q Py RUUE : Ush &l HUHYH (A) IR GU &I SRU (R) Dal T 2
HDHYH (A) : 21 dF YS! B I &N &1 I52y faentHial o sde-rdas R gordsd
e grvaarsii o Sgar S B |

DRI (R) : IS R YoHes [ faenfdal o fgeq o vere gid gl
SUddd Bl & il H Fgifad fdbedl § 9 T8 3w IH ;

(1) (A) 31X (R) GHI U § 3R (R), (A) B! Hal AR ¢ |

(2) (A) 3R R) TH T & TG (R), (4) BT Fel A1 T2 ¢
(3) (A) T & IR (R) 3T &l

(4) (A) AHTT & W= (R) T &l

1[Option ID=22621]
2[Option ID=22622]
3[Option ID=22623]
4[Option ID=22624]

Sl. No.7
QBID:351475

Learning Management Systems (LMS) is a software application used for

(1) Marketing of offline courses

(2)




Admission of students
(3) Creating institutional websites

(4) Creating virtual student-teacher groups

AT Y UUITeH (U UH UY) Udh GIteddr Uil eH & ford tgad fdhar Jrdi 8 -
(1) e UIagshHl & [dIRT 5g

(2) Taanfai & v & fou

(3) TRMHS dauIge a9 @ oY

(a) ST faendf-Riee wig g & fou

1[Option ID=22625]
2[Option ID=22626]
3[Option ID=22627]
4[Option ID=22628]

Sl. No.8
QBID:351478

Given below are two statements, one is labelled as Assertion A and the other is labelled
as Reason R
Assertion A : The higher the Intelligence Quotient, the higher is the Emotional Quotient.

Reason R : Intelligence Quotient indicates the rate of mental growth of a child.

In light of the above statements, choose the correct answer from the options given
below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) Alis true but Ris false

(4) Ais false but Ris true
T gl HY RUUE : Ush &l HUHYH (A) IR GE &I SRU (R) Pl T &
HEHYA (a) - FEas o1 ¥ g, Yiaas afs 31 81 ¥ sl
PRUI (R) : JlG0e F= & HHNS 9T I G & IR H S Pl &

Sudad Yl & el H Fgifed faeeul H 9 w8l I g4 ;

(1) (A) 3R (R) GHI A § 3R (R), (A) T T8l AR 5 |

(2) (A) 3R (R) THI T & U3 (R), (A) P Fe1 TS T8 1
(3) (A) T g T (R) A &l

(4) (A) 3T g W (R) A &I

1[Option ID=22629]
2[Option ID=22630]
3[Option ID=22631]
4[Option ID=22632]

Sl. No.9
QBID:351480




Which of the following is an offline method of teaching?

(1) SWAYAM

(2) MOOCS

(3) Reflective

(4) SWAYANPRAEHA

fFrafciRed o € oH-H o e o sitars [y E 2
(1) 4y

(2) g7

(3) wigasl

(4) WO

1[Option ID=22633]
2[Option ID=22634]
3[Option ID=22635]
4[Option ID=22636]

Sl. No.10
QBID:351482

Which of the following methods of teaching-learning is ‘Teacher Centric'?

(1) Chalk and Talk

(2) Case-studies discussion

(3) Activity based

(4) Field work

fgr-3ifrT @1 Fafiied oF- fafy Ree a8 2

(1) i AR drdl

(2) WERUI-3{EE IRl
(3) TIAfary Temd

(4) &I1-UfRra

1[Option ID=22637]
2[Option ID=22638]
3[Option ID=22639]
4[Option ID=22640]

Sl. No.11
QBID:351484

Subliminal priming as a research concept was first used in the discipline of

(1) Sociology
(2) Political Science
(3) Economics

(4) Social Psychology




Fufaied 1 ¥ fou favg o te 2y s@auRon & 4 7 sadad Wyfie du @f ggdl 9
TG foan 7T T 2

(1) AR

(2) A A

(3) R

(4) IS HAIGTH

1[Option ID=22641]
2[Option ID=22642]
3[Option ID=22643]
4[Option ID=22644]

Sl. No.12
QBID:351488

Retrospective studies are related to

(1) Social issues
(2) Language development
(3) Political events

(4) Biographical research

UdaTd! e gfiad 3 @ e 9 welia |

(1) gHEIS g
(2) HEEl faerE
(3) eHIfdd geAd
(4) Silg-gaet 2y

1[Option ID=22645]
2[Option ID=22646]
3[Option ID=22647]
4[Option ID=22648]

Sl. No.13
QBID:351491
Which of the following statements are true?
A. An ideal sample is always possible
B. Time and budget constraints do not hinder the selection of an ideal sample
C. Sampling inadequacies can be managed
D. A large sample can meet the inadequacies

E. A representative sample is beneficial

Choose the correct answer from the options given below:

(1) A BandConly
(2) B,Cand D only




(3) ¢, Dand E only

(4) A DandE only

fFafded H 4 oH I duI el 3 2

A. U@ HMTGY Ufdes Yad uHa §

B. §HY 3R Soic Ydell 33y U H1eY Hidasl & 99+ H are1 181 Siad 8
C. UiaagA dadl sruaitaarsi &f yafid faar o gobdl &
D. U® 986 Ulaes! Sqaradrsi & Ul o) I%dar &

£ U9 UfaHRaEs Uil ar+eE® &

i f&u v fawedl & € 98l I g -

(1) BadA, B #HR C

(2) ®HaaB, C ARD

(3) daaC, DIARE
(4) dda A, D AR E

1[Option ID=22649]
2[Option ID=22650]
3[Option ID=22651]
4[Option ID=22652]

Sl. No.14
QBID:351494
Given below are two statements
Statement I: The research questions should be linked to each other.

Statement II: The research questions should be either broad or narrow.

In light of the above statements, choose the correct answer from the options given
below

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

EIERAKAIE A

@Y - | : MY UY TH-gaL U UaG g diel

B - 11 : T T TGS T TSI gF e

Iugdd Byl & 3aie H Fafiiad el H 4 wdl I g -

(1) ®YT1 IR IS Fa F




(2) @ AR 1 EF AT B
(3) @Y | T 5, b HYF 1l A B
(4) DY HTA &, fog DU 11 A B

1[Option ID=22653]
2[Option ID=22654]
3[Option ID=22655]
4[Option ID=22656]

Sl. No.15
QBID:351501

Match List | with List 1l

List |

List 11

Type of analysis

Description

A Path analysis

. Looks at argumentation systematically

B. Content analysis

|l. Simultaneous analysis of two sets of vairables

C. Canonical correlational analysis

lll. Represented by structured linear regression
equations

D. Discourse analysis

V. Uses the method of unitisation

Choose the correct answer from the options given below:

(1) A-LBE-ILC-1I,D-1V
(2) A-IWV,B-L,C-1I,D-1I
) A-IILE-IV,C-1I,D-1I
(4) A-I,B-ILC-IV,D-1

gl -1 &I Gt -1l Y gafed S :

G) A-ILB-IV,C-1I,D
(4) A-I,B-IILC-IV, D

1[Option ID=22657]
2[Option ID=22658]
3[Option ID=22659]
4[Option ID=22660]

I -| I -1l

IReIUl &1 U IGEEL

. T fazemo |. TafYd ®U J db-fadd I IH adl 8
B. fawgas] &1 fA=aWu i1, &1 9) =l &I Y-y ey

C. WA Tedael |1 SRaTEs: 11 THYA0 GHIGIT gRI
o= UeRid gl g

D. faaR-fauel fazemur |v. sorsaxor &1 fafd & uged ol &1
- feu e fg@eat & € 9t SR AT

1) A-LB-ILC-1I, D-IV
(2) A-IV,B-LC-1I,D-1I




Sl. No.16
QBID:351504

In any modern society, communication has

(1) Power value
(2) Transient value
(3) Uncommeon value

(4) MNon-critical value

fodt off 3y GHS H TEIgU S Bl 6 -

(1) Tigd H98d
(2) OPIdD Hed
(3) YR Hed

(4) R-AEGATED Hed

1[Option ID=22661]
2[Option ID=22662]
3[Option ID=22663]
4[Option ID=22664]

Sl. No.17
QBID:351506

A personal dimension of communication is

(1) Source of noise
(2) Field of experience
(3) Institutional affiliation

(4) Location of reception

YU &1 U il A & -

(1) R & Wl

(2) 3Yd & &7

(3) TR Hdgdl

(4) TR BT Ayl

1[Option ID=22665]
2[Option ID=22666]
3[Option ID=22667]
4[Option ID=22668]

Sl. No.18
QBID:351509




Human communication involves the skills of
A. Not being visible

B. Self-presentation

C. Group interaction

D. Forging relations

E. Using high brow language

Choose the correct answer from the options given below:

(1) A Band Conly
(2) A CandE only
(3) B,Cand D only

(4) C, DandEonly

A4 TN H S SIEd TMAd sl & ?
A TEAAAGH @1

B. T-U&fd

C. THE =g

D. H&Y S

E. 33 TG HIYT BT IULIT BT
i< feu Y fadedl H 9 98l I g -

(1) FHAAA, B AR C
(2) HadA, CARE
(3) &dd B, C 3R D
(4) HaEC, D 3ARE

1[Option ID=22669]
2[Option ID=22670]
3[Option ID=22671]
4[Option ID=22672]

Sl. No.19
QBID:351512
Given below are two statements
Statement I: Communication can facilitate truth.

Statement ll: Communication can also be used to obscure truth.

In light of the above statements, choose the correct answer from the options given
below




(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is trus
A B RUME:

DY - | : RN I Bl HIET B 5

HY - || : TR TG @I HGRd 1 B Fhal gl

Juiad HUHl & 3Taiie H Faftiad faeedl 3 € ¥8l 3w 9

(1) TUF | R 11 GH FT
(2) Y1 AR 1 GH AT B
(3) Y19 T, fog YT 1 ST B
(4) BYA| HEA B, fdo] HYA || §A B

1[Option ID=22673]
2[Option ID=22674]
3[Option ID=22675]
4[Option ID=22676]

Sl. No.20
QBID:351514

Given below are two statements, one is labelled as Assertion A and the other is labelled

as Reason R

Assertion A : The sign systems of communication have fixed rules and production

procedures.
Reason R : The sign systems are invented for cross-cultural communication.

In light of the above statements, choose the correct answer from the options given

below

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A
(3) Aistrue but Ris false
(4) A s false but R is true
T a Py RUMUE : Us &l fUHY (A) 3R GU &I HRU (R) Tl T &
DU (A) : TN BT Heba yonferat & g9 iR Faio o1 febar-fafeat Fuffe @1
gl
BRUT (R) : Haoe YUNTeral T 3iT: GRpla® TuIv & oy snfaser fear mar g1
Suddd Byl & iy H Fgifed faseul § 9 w8l Sw 4 ;




() (4) 3R (R) FF TG § 3R (R), (A) BI FEI A B

(2) (A) ¥R (R) GHI T § U (R), (A) P 681 S T1 &1
(3) (A) § Fd W (R) 39 B

(4) (A) AT W= (R) G &l

1[Option ID=22677]
2[Option ID=22678]
3[Option ID=22679]
4[Option ID=22680]

Sl. No.21
QBID:351515

Find the missing number in the below given sequence.

4,9, 20, 43, 90, 7

(1) 180
(2) 185
(3) 133
(4) 120
T2 @ JEan ¥ g IEn &1 9id Bifen

4,9, 20, 435, 90,7

(1) 180
(2) 1385
(3) 135

(4) 180

1[Option ID=22681]
2[Option ID=22682]
3[Option ID=22683]
4[Option ID=22684]

Sl. No.22
QBID:351518

A person is given 10 rupees for shooting at a target and if he misses, then he has to give
10 rupees. If he gets 300 rupees for 100 chances, then how many chances did he miss?

(1) 35
(2) 45
(3) 55
(4) 25

U Afad @l 9160 R IMAER] @3 @ 10 T fad 9 & 9fR 9 98 9@ ol &, 99 99 10
T & USd ¢ i 39 100 AW G H WX 300 $UY it df S0 e samR 9 ¢

(1) 35
(2)




45
(3) 55
(4) 25

1[Option ID=22685]
2[Option ID=22686]
3[Option ID=22687]
4[Option ID=22688]

Sl. No.23
QBID:351680

There are a total of 15 tricycles and bicycles to be manufactured. If the total number of
wheels available is 40, how many tricycles and bicycles can be manufactured,
respectively?

(1) 5 10
(2) 8,7
(3) 7.8
(4) 10,5

od 15 fqufear urfedl SR SRRl o Iae- féaar [T 1 3fe Iudel oo ufedl ot
T 40 &, dl fara-1 fquiear aEfadl 3R Il o1 Jde (Gl ol 9&dl & ?

(1) 5,10
(2) 8,7
(3) 7.8
(4) 10,5

1[Option ID=22689]
2[Option ID=22690]
3[Option ID=22691]
4[Option ID=22692]

Sl. No.24
QBID:351682

In a certain coding language, 'GIVE' is written as 'VIEG' and 'OVER' is written as 'EVRO".
How will 'DISK’ be written in the same code?

(1) sSIDK

(2) KDsI

(3) 5IKD

(4) KISD
0% (1% 18 &1 49T 5 'GIVE' B 'VIEG' 3R 'OVER' B 'EVRO' foral oIl 81 341 dIS H
‘DISK I ¥ Toral SIeT 2

(1) sSIDK

(2) KDsI

(3) SIKD

(4) KISD




1[Option ID=22693]
2[Option ID=22694]
3[Option ID=22695]
4[Option ID=22696]

Sl. No.25
QBID:351686

A group of 3 inter-related numbers as (6, 10, 16) is given. By tracing the relationship
among the numbers in this group, choose another group with similar relationship, from
the given alternatives.

(1) (9,13, 18)
(2) (6,11, 15)
(3) (5,10, 18)
4) (7,11,17)

Udh Uig ¥ 3 3ick: Uelltrd Tl (6, 10, 16) Gl 715 o | 39 UHE &I TeiaHl & ey ol = o
Tdd gU 34 PR & &Y arel U 1 Tg Y fadedl & 4 94U

(1) (9, 13, 18)
(2) (B, 11, 15)
(3) (5,10, 18)
(4) (7,11, 17)

1[Option ID=22697]
2[Option ID=22698]
3[Option ID=22699]
4[Option ID=22700]

Sl. No.26
QBID:351691

If the statement, 'Some animals are not ferocious’ is given as true, then which of the
following could be immediately inferred from it:

A, "All animals are ferocious' is undetermined
B. 'Some animals are ferocious' is false

C. 'No animals are ferocious' is undetermined
D. "All animals are ferocious' is false

Choose the correct answer from the options given below:

(1) Cand D only
(2) BandD only
(3) B,Cand D only
(4) A BandConly




OfE HY TS U SIS Tl 6id & &1 9d & ©U H G @1 & af 3ud Fofafaa 7 9
fad! dieblfcid 4 4 SH1Hd a1 o bl & ?

A O] RS ©, YRGB

B. '$% U HIHMHD &, ATd 8l

C. B | 0g] omem® e &, AFuia Bl

D. Gt U] MHHS &, S B

o fGu e fgdedl § ¥ 98l ST g -

(1) I C AR D
(2) Had B AR D
(3) BB, C AR D
(4) FAAA, B AR C

1[Option ID=22701]
2[Option ID=22702]
3[Option ID=22703]
4[Option ID=22704]

Sl. No.27
QBID:351701

"Miss World says that the socially correct thing for a vegetarian guest to do at a dinner
party is to look perfectly happy eating salads. Therefore, to act likewise is the socially
correct thing to do”. Which fallacy is committed in the above argument?

(1) Red Herring
(2) Ad Populem
(3) Appeal to Inappropriate Authaority
(4) Ad Hominem

"9 a8 &1 de1 8l [ U MdeR] ifafd & fag fodl urdf 7 Terg wids ool U 4 4g=
fEaTs U gHIod €9 9§ Uel §1d & | SHIHT, Jarey &1 &3l GHifeie €4 4 Jel g1
SWRIed di H DI9 db-ay [l T ¢ ?

(1) ISR

(2) TS U

(3) Ugad USRI U i
(4) USEIFH

1[Option ID=22705]
2[Option ID=22706]
3[Option ID=22707]
4[Option ID=22708]

Sl. No.28
QBID:351723




Given below are two statements
Statement I: 'Some S is P' is contrary to ‘No S is P'.
Statement II: 'Some S is P’ is subcontrary to 'Some S is not P".

In light of the above statements, choose the correct answer from the options given

below

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

DY - |: PSS, PE, Dig W S, PG g & [dWiad® gl

Y- 11 PSS, P, PSS, P el o, & IU-fauddeda Bl
Sudad BYHl B el H FEieiRad el | U 98] Sw 94 -

(1) Y1 IR 1 H T T

(2) @Y1 AR I GHI AFA B

(3) Y19 8, fhq By 11 3 EA B
(4) BYF 1 HTI g, foog PUH 11 TA B

1[Option ID=22709]
2[Option ID=22710]
3[Option ID=22711]
4[Option ID=22712]

Sl. No.29
QBID:351855

Given below are two statements
Statement I: According to Classical Indian Logicians, all fallacies are material fallacies.

Statement II: According to Classical Indian Logicians, fallacies could be purely formal as
well as purely informal.

In light of the above statements, choose the most appropriate answer from the options

given below

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement 1l is correct




THEHE RTINS
B - | : TP YR db Aieadl & AR Toff db-a gardfg ab-am gl

T - || : TS| YR 96 MRadl & $I9R i db-a 1y f53s ©U ¥ saie &
el fax[g ®U 9 3HaIRe & ©4 H gl Jdbd o

Sudad BYHl & el H Fgieiad el § ¥ 98l Sw g :

(1) 2T 1 R 1 EF el &
(2) T AR I G Tad &
(3) DY 1 9F B, fo] HYH 11 7Td B |
(4) FUF|7TAd 8, fbg B 11 Tl B

1[Option ID=22713]
2[Option ID=22714]
3[Option ID=22715]
4[Option ID=22716]

Sl. No.30
QBID:351872

Which of the following statements are true regarding Nyaya view of Inference as a valid
source of knowledge?

A. It is a cognition which presupposes some other cognition

B. It is mediate or indirect

C. It arises through a mark (linga or hetu)

D. That mark is invariably connected with the object of inference (sadhya)

Choose the correct answer from the options given below:

(1) Cand D only
(2) A B CandD
(3) A, BandD only
(4) B, Cand D only

FrofeRed & 9 SHY $UF I1d & U9 99 |0 & ©U H g9 S g a9 & IR § 981 &

?

A.ﬂgqﬁa UFH B, Sl $ 30 T B Jd- YR Bl 6|

B. U o0died I1 U4 ¢
C.gg [ a1 gq & HIeH 4 Udhe sidl ¢
D. T8 &4 FRUarg 0 I e ¥ 9Efid 3
- feu e fadedl # € 98l IR 9 -

(1) HIAC IR D




(2) A B C3RD
(3) daTA, B3R D
(4) HaaB, CARD

1[Option ID=22717]
2[Option ID=22718]
3[Option ID=22719]
4[Option ID=22720]

Sl. No.31
QBID:352205

Bing is a web search engine owned and operated by
(1) Microsoft
(2) Yahoo

(3) Alphabet Incorporation

(4) Amazon

&7 U I o1 &, e Wi sk ufareT _ gRI 2|

(1) AEHEE

(2) TE

(3) 3fPlae STHIUNRTH
(4) THEH

1[Option ID=22721]
2[Option ID=22722]
3[Option ID=22723]
4[Option ID=22724]

Sl. No.32
QBID:352217

Students in a class in New Delhi have been communicating with a class in Chandigarh by
videoconference. The two classes find that the images they recieve from each other
occasionally freeze for upto 30 seconds before the video continues. This type of

problem can most often be solved by

(1) increasing bandwidth
(2) upgrading cameras
(3) increasing video resolution

(4) upgrading monitors

T fecoll FRd oF @an & fanfifar 3 fifseiaithyg o T1em 4 J3ne RUd 0@ @& & 91y
YHINU GR35 &1 U GHI B&Y UKl € fdh Udh-gad & WItd i alell Siddl 9gl-aal
difgdl & 9l T84 U qd 30 Ybs dd Wi 5l 9ldl &1 39 DR B THHT BT AUBI=ad
u: T ey g1 o Uebdl g

(1) defasydiseH Y

(2) FWI DI G (HTS)HH d




(3) difgaf faiqrA aeH
(4) O Bl AUUs FH d

1[Option ID=22725]
2[Option ID=22726]
3[Option ID=22727]
4[Option ID=22728]

Sl. No.33
QBID:352234
Consider the following incomplete sentences:

Infrastructure aspects provided by the Government of India under National e-
Governance Plan are:

(i) for storage of data and hosting applications, it is

(i) for network connectivity, it is ; and

(iii) for capacity building, itis ______

Identify the correct order of words (A-C) from the following to complete the sentences.
A SWAN

B. SDC

C. NISG

Choose the correct answer from the options given below

(1) B A C
(2) A B C
(3) B,C A
(4) A CB
fFafeiRad s a1l | faaR Hifeg :

YR PR TR AP §-Td78 TISHI & 3fcid e & U (i) ST & HSRU Ud
IR U4 & [T #; (i) edd Pfaciac] & oy & SR (iii) &
frior & e gl

SWRIad aiad! &I U B3 & o FEfiad § 9 98 et - ©9 (A - €) 31 UgaH Bifed -
A, SWAN

B. 5DC

C. NISG

i fGu e fgdedl § O 98l ST g -

(1) B A C

(2) a8 C




(3) B CA
(4) A CB

1[Option ID=22729]
2[Option ID=22730]
3[Option ID=22731]
4[Option ID=22732]

Sl. No.34
QBID:352245

Given below are two statements, one is labelled as Assertion A and the other is labelled

as Reason R

Assertion A : HTTP is an application-layer network protocol for transmitting hypermedia

documents,

Reason R : HTTP was designed for communication between web browsers and web

Senvers.

In light of the above statements, choose the correct answer from the options given

below

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) Aistrue but Ris false

(4) Ais false but Ris true
A a BY RUTE : T B AHDHYA (A) 3R 8 DI BRU (R) Bel T 6|
DY (A) : T UL, BRURHITSA SIS & HIRU & iU U URiIhRH-TaR Fead
ﬂ ‘P W %l
BRUI (R) : T.EE1UL. DI 9 SS9 SR 9 G o o= SR & 70 &1 77 )
Suddd Byl & iy H Fgifed faseul § 9 w8l Sw 4 ;

(1) (A) 3R (R) GHI Tel & 3R (R), (A) DI Uel URAT E |

(2) (A) 3R (R) GH &1 & I (R), (A) D! Tl RSAT 781 81
(3) (A) T & I (R) HTA &1

(4) (A)3HT g T (R) T I

1[Option ID=22733]
2[Option ID=22734]
3[Option ID=22735]
4[Option ID=22736]

Sl. No.35
QBID:352269




Match List | with List 11

List | List Il
Information Technolo
oy Definition
Term
D . A wireless technology standard for exchanging data over
' short distances.
B. Intranet Il. A protocol used to send and receive web pages.
lIl. A radio navigation system that allows users to determine
C. Bluetooth . .
their exact location.
9 Litre IV. A private network or website available only to members
) of an organisation.

Choose the correct answer from the options given below:

1) A-IILBE-IV,C-I,D-1I
(2) A-ILB-IV,C-1,D-1I
B) A-ILB-LC-IV,D-1
4) A-LLB-IV.C-I,D-1

gl -1 DI et -1l Y gaferd Sifo ;
T -| T -1l

BEEl ;
PIEIHCAR
. 7Y Rl IR Se1 & GH-UGH &1 Th
AWl gy, e T
s 2] I1. 99 Uolg Yo+ 3R UId &34 | SuaiT fd1 o= arel
' & Uedid

. . 1. Ueh (&4t feaane womel, St SuarTddle &1 3!
ST R s frufa B @1 oAl 2T R

o AT $.éﬁ?§@ﬁﬁwﬁmaﬁwwﬁsﬁm
= e e et 3 9ol S AT

1) A-IILBE-IV,C-I,D-1I
(2) A-ILB-IV,C-1,D-1lI
3) A-IILE-LC-IN,D-1
(4) A-LLB-IV.C-IN,D-1

1[Option ID=22737]
2[Option ID=22738]
3[Option ID=22739]
4[Option ID=22740]

Sl. No.36
QBID:352274




Given below are two statements

Statement I: Prolonged (chronic) exposure to high noise levels (90-110 dB) causes only
a temporary shift in the hearing threshold of an exposed person.

Statement II: Noise may adversely impact the psychological as well as physiclogical
well being of the exposed person.

In light of the above statements, choose the correct answer from the options given
below

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

FHYF - | : I IR TR & GIUPNAD 3G9 4§ TP J@lud aaiad & 4auig Haam o
Had o U Uadd gidl 51

@Y - || : TR ISId Afad DI TG-S & J1Y-TY ARG W@l Wear )R i ufaga
THId STl Fobdll &

Sudad Yl & el J Fgieiad el § ¥ 981 Sw g -

(1) Y1 IR 1 GH T B
(2) @Y1 AR I GA AT B
(3) BYA 1 9d g, fbg U 1l HEA B
(4) FYF| HOA 8, foog HYA 1| T B

1[Option ID=22741]
2[Option ID=22742]
3[Option ID=22743]
4[Option ID=22744]

Sl. No.37
QBID:352275

Given below are two statements

Statement I: Millennium Development Goals were envisaged to reduce extreme poverty
by 2020.

Statement II: There were eight Millennium Development Goals.

In light of the above statements, choose the correct answer from the options given
below

(1) Both Statement | and Statement |l are true

(2) Both Statement | and Statement Il are false




(3) statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

A Py R TER:

DY - | : Gotdlea! [d@ Y T&dl H 2020 9@ HAd TRidl D 9 B TR o 715 2|
HYU - || : YeTalsa] [ Tiedl &t T & o

Sudad HYHl & 3eiie H Fafaiad faeedl 3 3 98l 3w I -

(1) Y1 IR 1 TH T B

(2) @Y AR 11 GA AT B

(3) ®UH 1 9 B, fbg BYH Il 38 B
(4) DY HTA &, food HUF 11 TI B

1[Option ID=22745]
2[Option ID=22746]
3[Option ID=22747]
4[Option ID=22748]

Sl. No.38
QBID:352278
|dentify the hazards that occur only due to natural reasons.
A. Forest fires
B. Volcanoes
C. Cyclones

D. Floods

Choose the correct answer from the options given below:

(1) Aand B only
(2) B and Conly
(3) CandD only
(4) Aand D only

3 WaRl DI UgdI-T Sl fb dad Uidpfad dRUI Y uiedsid o -

A g AT

B. SaTCIE!

C. Iehard
D.dG
- feu U fadedl & 4 98l 3R g -

(1)




Had A AR B
(2) HadB AR C
(3) A C AR D
(4) HATA ARD

1[Option ID=22749]
2[Option ID=22750]
3[Option ID=22751]
4[Option ID=22752]

Sl. No.39
QBID:352283

Arrange the following gases in an increasing order of their contribution towards global
warming.

A. Methane

B. Chlorofluorocarbons
C. Nitrous oxide

D. Carbondioxide

Choose the correct answer from the options given below

(1) 4 ECD

(2) T B AD

(3) C,A B D

(4) A C B D
%@;ﬁﬂﬁ@ﬂﬁ%%ﬁﬁﬁ%ﬁﬁaﬁawﬁm@ﬂﬁm:
A.

B. TR TR BTaA
C. A5ey HiFgs

D. BETSEHEES
i fGu U fgdedl § ¥ 98l SR g -

(1) A B CD
(2) CBEAD
(3) CABD
(4) A4 CBD

1[Option ID=22753]
2[Option ID=22754]
3[Option ID=22755]
4[Option ID=22756]

Sl. No.40
QBID:352295




Given below are two statements, one is labelled as Assertion A and the other is labellad

as Reason R

Assertion A: All the member countries of the International Solar Alliance are located
between the Tropics of Cancer and Capricorn.

Reason R: Intensity of solar radiation in the tropical region is high as compared to
temperate and polar regions.

In light of the above statements, choose the most appropriate answer from the options
given below

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A
(3) Ais correct but R is not correct

(4) A is not correct but R is correct

A T YT RY LR
DY - | : ARTPI TR TS P T Ho G b 3R HHR 11 & AL H 3@l &)

T - || : IUHTeadg &7 H UR f&fawu 31 diadl qaiee u o =fidren SR ydig aaf §
3Hfee Bielt 2|

U HYEl & il H FEfaRad fad el 8 98 SR g -

(1) &1 AR I EF T8l
(2) B AR 11 gF Tad 8l
(3) DU 1A, [ Y 11 T § |
(4) ©Y | HFA &, foog DY 11 F&T B

1[Option ID=22757]
2[Option ID=22758]
3[Option ID=22759]
4[Option ID=22760]

Sl. No.41
QBID:352298

Given below are two statements

Statement I: 'E-Vidhyapeeth' is a Learning Management System and an e-learning
infrastructure product.

Statement II: An HTML editor is a software application for creating web pages.

In light of the above statements, choose the correct answer from the options given
below

(1) Both Statement | and Statement |l are true

(2)




Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

A IE AT S
DY - | : 3-IdIE T ST YdeH Tl 3R Ud S--1 SIhRedR Uisae gl

HYF - || : T3 TH.UC. UFSex 94 Uold &l g9 & [oE it day Ued gl
Ul Byl B Jeiie H FafiRad faecdl 5 8 98l W I -

(1) TYT 1 AR 1 GH TBIEl
(2) @Y R 1 gF TTed g
(3) ®YF 19§, [ HY 1l 3 EA B
(4) BYF 1 HTI ¢, oo PUH 11 TA B

1[Option ID=22761]
2[Option ID=22762]
3[Option ID=22763]
4[Option ID=22764]

Sl. No.42
QBID:352319

Match List | with List 11

List | List I

Core Universal Values

Area Related to Human Personality

A Truth l. Emotional
B. Righteous Conduct Il Spiritual
C. Peace l1l. Physical

D. Non-viclence

V. Intellectual

Choose the correct answer from the options given below:
1) A-IV,B-ILC-I,D-1I
(2) A-NLB-1,C-1,D-1V
3) A-ILBE-ILC-IV,D-I
(4) A-IV,B-LC-II,LD-1

gl -1 DI et -1l 9 gaferd S :

T -| T -1l

Id gayiEe 9™ T4 cfdaa § Gafid &
A Td . Gadl

B. JaMRT R0 II. ST

C. Zifd 1. TS

D. Afgdl V. g

- feu e fgdedl # 9 Hel S 9T




@) a-wv,B-m,C-1,D-1
(2) A-NILB-1,C-1,D-1V
(3) A-IIILB-1I,C-1V,D-1

4 A-IV,B-LC-I,D-1

1[Option ID=22765]
2[Option ID=22766]
3[Option ID=22767]
4[Option ID=22768]

Sl. No.43
QBID:352327

Given below are two statements

Statement I: The Mational Assessment and Accreditation Council (NAAC) is a
constituent unit of UGC.

Statement II: National Board of Accreditation (NBA) was established by UGC with the
purpose of evaluating technical programs.

In light of the above statements, choose the correct answer from the options given

below

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

e &l P RU LR -
DU - | - TP b AR yeard uRug g A 3o €1

HY - 11 : Gl GRI AP TG €1 (N.B.A,) B RITUHT Gb-1ch! brdshHl (WIH) &
TlicH & 3524 4 @1 T3 41

U HYHl B 3Tl H FEfaRad fad el § 8 98 SR 4 -

(1) ®UF 1 AR 11 EF TEl 8l
(2) @Y 3R 1 GF A
(3) DY 19§, fbg By 1 38T B
(4) DY ATI &, g DU 11 T B

1[Option ID=22769]
2[Option ID=22770]
3[Option ID=22771]
4[Option ID=22772]

Sl. No.44
QBID:352331

Who was the Chairman of Kothari Commission?

(1) Dr. D. S. Kothari




(2) pr. D. P. Kothari
(3) Dr. S. P. Kothari

(4) Dr.T. H. Kothari

DISRT AN & e dIT Y 2

(1) SIEITY. DB
(2) SIS BIBRI
(3) SITYUL DIBRI
(4) SIELE. BIBRI

1[Option ID=22773]
2[Option ID=22774]
3[Option ID=22775]
4[Option ID=22776]

Sl. No.45
QBID:352334

Given below are two statements

Statement I: In ancient India, indigenous education was imparted at home, in temples

and gurukuls.
Statement II: In ancient India, students went to viharas for higher knowledge.

In light of the above statements, choose the correct answer from the options given
below

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

EICEACE N
G - | : UIH YR H c2rs I8 @R |, #ieRl SR Te@al d Uaq &1 ol 2|

T - |1 : UTEF 4R H e 9= 99 & wifta & forg faert & =i 4
Iuddd Byl & il H FafaRad faeal 3 8 98l g g -

(1) &Y AR I GHl Gel 8l
(2) Y1 AR 1 gHTTad B
(3) HYF19I §, [ BY 11 3 EA B
(4) DU | HTA &, foog DU 11 A

1[Option ID=22777]
2[Option ID=22778]
3[Option ID=22779]
4[Option ID=22780]

Sl. No.46
QBID:352344




Read the given passage and answer the five questions that follow

Stereotypes as a form of ordering the mass of complex data that we receive from the
world are of only a particular form. These are representation and categorization of
persons in a society. These also make sense of that society through generalities,
patterning and typifications. Unless one believes that there is some definitively true order
in the world which is transparently revealed to human beings and unproblematically
expressed in their culture, this activity of ordering, including the use of stereotypes,
becomes a necessity. It is indeed inescapable.

This is a part of the way societies make sense of themselves, and hence actually make and
reproduce themselves. All such orderings are partial and limited, but do not mean untrue.
Partial knowledge is not false knowledge. It is simply not absolute knowledge. However,
there are two problems about stereotypes within this perspective. First is the buzzing
confusion of reality. This is accompanied by a belief in the absocluteness of a particular
order. It is a refusal to recognize its limitations and partiality, its relativity and
changeability. Secondly, it is not only a product of history, but also reflected in the power
relations within that society. Stereotypes are imposed by the stronger on society and the
order is grounded in social power. The western notion of stereotypes is often considered
as a short cut, points to the manner in which stereotypes are a very simple, striking, easily
grasped form of representation. Nonetheless, such a notion is less capable of condensing
a great deal of complex information and connections. Often, the observed simplicity of
stereotypes is deceptive.

Frafafe T o aryde ey ok Fwfta ue wst ¥ Sw o :

Fe YRV Wied Hidsl & iied AR &I Uh Wel g, ol 849 99R ¥ Ui &d
3R Sl $ad U (99N W&y &1 aidl e | & U & anll &l UiaFHiEa 3R avffeo &d &
4 g q&ul, Ufaeal 3R ufadieul & d1ed O 39 99 & 9 § i R §91d B
d d& [ Bz THdl & & S9R ¥ Ay ©u U 33 aafde siied [dedH & S 9Hd &
TH& URGRIT ¥9 U Iguiied sl & AR SU®! Gpid H ol fam1 [t ®fdars & ooad
DI Id 21 HEHT B g8 Tafal oo T¢ yRumsl &1 I9gnT THd 8, Harddr &9
STt &1 99 # g8 uRerd &1 98 39 Ufafy &1 4FT , s 9u S 9R # 4RO @1
it S 8 3R 39 bR 3uH @f [Aftfa ud HAfHd swar 81 U it gt ifde
IR TIEE & g 39e o U8 T8 % T o) 31 SMif¥® 99 % I 6l g g
g g8 qul 3 o e 8l 81 auifd, 39 uftdal § ¢ yrunsi & 9Rr o &l guwnd 8l
Ugdil & drdidmd] Gael sfaiyd yifd | 3ud fodl faey sogwn of gofar deeht gr=ar =nfia
2| 98 39@! drefl R HifRradrei quT 39! GIuadl 3R gRad-iadl &l 94 9 SoR 8
O T 08 & % 98 9 %ad 3ae™ @1 Sd &, Sicd J8 39 999 & Adid 2fed
Taet @t +f uefia a1 51 T¢ YR, wfeawren 31 gR1 99 # AR &1 91l & 3R
Tg O YT iea & Ifafed 8 ot 81 o yRonsi @ ufge g & siarfd wma
JUg {1 T B o ifiurg 39 faf € 2 forge arem 1 ¢ uRrond ufaffia & W,
AHBUS AR AqdIUD Wed @i eidl g1 b o, T gruar SR Sfed ga-r R
AU I WP ®U § Guifd & 7 a9y il 81 U ¢ URumd & 3@ o ardt
WA YHE Bl &

Stereotypes are described as of people.




(1) positive images
(2) True images

(3) Typified images
(4) Glorified images

¢ YRS safaeal & e e &t affd et § 2

(1) TPRIESD (9=
(2) TrAA® [T

(3) HfHaE® far
(4) HigAMESd fa=

1[Option ID=22781]
2[Option ID=22782]
3[Option ID=22783]
4[Option ID=22784]

Sl. No.47
QBID:352350




Read the given passage and answer the five questions that follow

Stereotypes as a form of ordering the mass of complex data that we receive from the
world are of only a particular form. These are representation and categorization of
persons in a society. These also make sense of that society through generalities,
patterning and typifications. Unless one believes that there is some definitively true order
in the world which is transparently revealed to human beings and unproblematically
expressed in their culture, this activity of ordering, including the use of stereotypes,
becomes a necessity. It is indeed inescapable.

This is a part of the way societies make sense of themselves, and hence actually make and
reproduce themselves. All such orderings are partial and limited, but do not mean untrue.
Partial knowledge is not false knowledge. It is simply not absolute knowledge. However,
there are two problems about stereotypes within this perspective. First is the buzzing
confusion of reality. This is accompanied by a belief in the absocluteness of a particular
order. It is a refusal to recognize its limitations and partiality, its relativity and
changeability. Secondly, it is not only a product of history, but also reflected in the power
relations within that society. Stereotypes are imposed by the stronger on society and the
order is grounded in social power. The western notion of stereotypes is often considered
as a short cut, points to the manner in which stereotypes are a very simple, striking, easily
grasped form of representation. Nonetheless, such a notion is less capable of condensing
a great deal of complex information and connections. Often, the observed simplicity of
stereotypes is deceptive.

Frafafe T o aryde ey ok Fwfta ue wst ¥ Sw o :

Fe YRV Wied Hidsl & iied AR &I Uh Wel g, ol 849 99R ¥ Ui &d
3R Sl $ad U (99N W&y &1 aidl e | & U & anll &l UiaFHiEa 3R avffeo &d &
4 g q&ul, Ufaeal 3R ufadieul & d1ed O 39 99 & 9 § i R §91d B
d d& [ Bz THdl & & S9R ¥ Ay ©u U 33 aafde siied [dedH & S 9Hd &
TH& URGRIT ¥9 U Iguiied sl & AR SU®! Gpid H ol fam1 [t ®fdars & ooad
DI Id 21 HEHT B g8 Tafal oo T¢ yRumsl &1 I9gnT THd 8, Harddr &9
STt &1 99 # g8 uRerd &1 98 39 Ufafy &1 4FT , s 9u S 9R # 4RO @1
it S 8 3R 39 bR 3uH @f [Aftfa ud HAfHd swar 81 U it gt ifde
IR TIEE & g 39e o U8 T8 % T o) 31 SMif¥® 99 % I 6l g g
g g8 qul 3 o e 8l 81 auifd, 39 uftdal § ¢ yrunsi & 9Rr o &l guwnd 8l
Ugdil & drdidmd] Gael sfaiyd yifd | 3ud fodl faey sogwn of gofar deeht gr=ar =nfia
2| 98 39@! drefl R HifRradrei quT 39! GIuadl 3R gRad-iadl &l 94 9 SoR 8
O T 08 & % 98 9 %ad 3ae™ @1 Sd &, Sicd J8 39 999 & Adid 2fed
Taet @t +f uefia a1 51 T¢ YR, wfeawren 31 gR1 99 # AR &1 91l & 3R
Tg O YT iea & Ifafed 8 ot 81 o yRonsi @ ufge g & siarfd wma
JUg {1 T B o ifiurg 39 faf € 2 forge arem 1 ¢ uRrond ufaffia & W,
AHBUS AR AqdIUD Wed @i eidl g1 b o, T gruar SR Sfed ga-r R
AU I WP ®U § Guifd & 7 a9y il 81 U ¢ URumd & 3@ o ardt
WA YHE Bl &




Stereotypes are products of

(1) Absolute knowledge
(2) Partial knowledge
(3) False knowledge

(4) Real knowledge
¢ YR fua! 3§ 2

(1) gui I

(2) 3D JH
(3) HUT FH
(4) D JH

1[Option ID=22785]
2[Option ID=22786]
3[Option ID=22787]
4[Option ID=22788]
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Read the given passage and answer the five questions that follow

Stereotypes as a form of ordering the mass of complex data that we receive from the
world are of only a particular form. These are representation and categorization of
persons in a society. These also make sense of that society through generalities,
patterning and typifications. Unless one believes that there is some definitively true order
in the world which is transparently revealed to human beings and unproblematically
expressed in their culture, this activity of ordering, including the use of stereotypes,
becomes a necessity. It is indeed inescapable.

This is a part of the way societies make sense of themselves, and hence actually make and
reproduce themselves. All such orderings are partial and limited, but do not mean untrue.
Partial knowledge is not false knowledge. It is simply not absolute knowledge. However,
there are two problems about stereotypes within this perspective. First is the buzzing
confusion of reality. This is accompanied by a belief in the absocluteness of a particular
order. It is a refusal to recognize its limitations and partiality, its relativity and
changeability. Secondly, it is not only a product of history, but also reflected in the power
relations within that society. Stereotypes are imposed by the stronger on society and the
order is grounded in social power. The western notion of stereotypes is often considered
as a short cut, points to the manner in which stereotypes are a very simple, striking, easily
grasped form of representation. Nonetheless, such a notion is less capable of condensing
a great deal of complex information and connections. Often, the observed simplicity of
stereotypes is deceptive.

Frafafe T o aryde ey ok Fwfta ue wst ¥ Sw o :

Fe YRV Wied Hidsl & iied AR &I Uh Wel g, ol 849 99R ¥ Ui &d
3R Sl $ad U (99N W&y &1 aidl e | & U & anll &l UiaFHiEa 3R avffeo &d &
4 g q&ul, Ufaeal 3R ufadieul & d1ed O 39 99 & 9 § i R §91d B
d d& [ Bz THdl & & S9R ¥ Ay ©u U 33 aafde siied [dedH & S 9Hd &
TH& URGRIT ¥9 U Iguiied sl & AR SU®! Gpid H ol fam1 [t ®fdars & ooad
DI Id 21 HEHT B g8 Tafal oo T¢ yRumsl &1 I9gnT THd 8, Harddr &9
STt &1 99 # g8 uRerd &1 98 39 Ufafy &1 4FT , s 9u S 9R # 4RO @1
it S 8 3R 39 bR 3uH @f [Aftfa ud HAfHd swar 81 U it gt ifde
IR TIEE & g 39e o U8 T8 % T o) 31 SMif¥® 99 % I 6l g g
g g8 qul 3 o e 8l 81 auifd, 39 uftdal § ¢ yrunsi & 9Rr o &l guwnd 8l
Ugdil & drdidmd] Gael sfaiyd yifd | 3ud fodl faey sogwn of gofar deeht gr=ar =nfia
2| 98 39@! drefl R HifRradrei quT 39! GIuadl 3R gRad-iadl &l 94 9 SoR 8
O T 08 & % 98 9 %ad 3ae™ @1 Sd &, Sicd J8 39 999 & Adid 2fed
Taet @t +f uefia a1 51 T¢ YR, wfeawren 31 gR1 99 # AR &1 91l & 3R
Tg O YT iea & Ifafed 8 ot 81 o yRonsi @ ufge g & siarfd wma
JUg {1 T B o ifiurg 39 faf € 2 forge arem 1 ¢ uRrond ufaffia & W,
AHBUS AR AqdIUD Wed @i eidl g1 b o, T gruar SR Sfed ga-r R
AU I WP ®U § Guifd & 7 a9y il 81 U ¢ URumd & 3@ o ardt
WA YHE Bl &

Those who produce stereotypes




(1) Do not see their own limitations
(2) Have strong social reasons
(3) Do not believe in such dispositions

(4) View the world positively

(1) U %y @ TS I 8l 68 uKd |
(2) ¢ Mo HRUT ald 8id 8|

(3) U HfieniEg & fayrg 78l 3 B
(4) UOR B HRIEGT § G@d 8|

1[Option ID=22789]
2[Option ID=22790]
3[Option ID=22791]
4[Option ID=22792]
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Read the given passage and answer the five questions that follow

Stereotypes as a form of ordering the mass of complex data that we receive from the
world are of only a particular form. These are representation and categorization of
persons in a society. These also make sense of that society through generalities,
patterning and typifications. Unless one believes that there is some definitively true order
in the world which is transparently revealed to human beings and unproblematically
expressed in their culture, this activity of ordering, including the use of stereotypes,
becomes a necessity. It is indeed inescapable.

This is a part of the way societies make sense of themselves, and hence actually make and
reproduce themselves. All such orderings are partial and limited, but do not mean untrue.
Partial knowledge is not false knowledge. It is simply not absolute knowledge. However,
there are two problems about stereotypes within this perspective. First is the buzzing
confusion of reality. This is accompanied by a belief in the absoluteness of a particular
order. It is a refusal to recognize its limitations and partiality, its relativity and
changeability. Secondly, it is not only a product of history, but also reflected in the power
relations within that society. Stereotypes are imposed by the stronger on society and the
order is grounded in social power. The western notion of stereotypes is often considered
as a short cut, points to the manner in which stereotypes are a very simple, striking, easily
grasped form of representation. Nonetheless, such a notion is less capable of condensing
a great deal of complex information and connections. Often, the observed simplicity of
stereotypes is deceptive.

Frafafe T o aryde ey ok Fwfta ue wst ¥ Sw o :

Fe YRV Wied Hidsl & iied AR &I Uh Wel g, ol 849 99R ¥ Ui &d
R il T7ad U 929 &Y B eldl | 3 JAIS & ARl & WiaHide R FeL0 $3d 8l
4 g q&ul, Ufaeal 3R ufadieul & d1ed O 39 99 & 9 § i R §91d B
d d& [ Bz THdl & & S9R ¥ Ay ©u U 33 aafde siied [dedH & S 9Hd &
THa URGRIl ¥49 U 3guiied gidl ¢ <R Iu®! dwpid ¥ 5l fa1 ol SiéArs & ouad
DI Id 21 HEHT B g8 Tafal oo T¢ yRumsl &1 I9gnT THd 8, Harddr &9
STt &1 99 g uRerd &1 98 39 Ufafy &1 4T 8, e 99 o 9R § 4RO @1
it S 8 3R 39 bR 3uH @f [Aftfa ud HAfHd swar 81 U it gt ifde
IR A & g sue o 9% T8 6 T oW B Sif¥E 99 % I 6l gl g
g g8 qul 3 o e 8l 81 auifd, 39 uftdal § ¢ yrunsi & 9Rr o &l guwnd 8l
Ugdil & drdidmd] Gael sfaiyd yifd | 3ud fodl faey sogwn of gofar deeht gr=ar =nfia
2| 98 39@! drefl R HifRradrei quT 39! GIuadl 3R gRad-iadl &l 94 9 SoR 8
O IO 08 & % 98 9 %ad 3e™ @1 Sd &, Sicd J8 39 999 & Adid i
Taet @t +f uefia a1 51 T¢ YR, wfeawren 31 gR1 99 # AR &1 91l & 3R
Tg O YT iea & Ifafed 8 ot 81 o yRonsi @ ufge g & siarfd wma
JU HF T § o i 39 Oy © § forge dre0d § ¢ YR ufafiftd & W,
AHBUS AR AqdIUD Wed @i eidl g1 b o, T gruar SR Sfed ga-r R
YT & Wy U ¥ guid & § 3y gidl 31 U T YRt &f fGers ¢ arclt
WA YHE Bl &

Stereotypes originate from




(1) social reality
(2) Ideal social order
(3) Objective social assessment

(4) Social power relations

¢ YR fioTd Saa gl § 2

(1) YIS dRdldddl
(2) AT IS awT

(3) THRS JHATTH i
(4) HHEITSD AR S ey

1[Option ID=22793]
2[Option ID=22794]
3[Option ID=22795]
4[Option ID=22796]
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Read the given passage and answer the five questions that follow

Stereotypes as a form of ordering the mass of complex data that we receive from the
world are of only a particular form. These are representation and categorization of
persons in a society. These also make sense of that society through generalities,
patterning and typifications. Unless one believes that there is some definitively true order
in the world which is transparently revealed to human beings and unproblematically
expressed in their culture, this activity of ordering, including the use of stereotypes,
becomes a necessity. It is indeed inescapable.

This is a part of the way societies make sense of themselves, and hence actually make and
reproduce themselves. All such orderings are partial and limited, but do not mean untrue.
Partial knowledge is not false knowledge. It is simply not absolute knowledge. However,
there are two problems about stereotypes within this perspective. First is the buzzing
confusion of reality. This is accompanied by a belief in the absoluteness of a particular
order. It is a refusal to recognize its limitations and partiality, its relativity and
changeability. Secondly, it is not only a product of history, but also reflected in the power
relations within that society. Stereotypes are imposed by the stronger on society and the
order is grounded in social power. The western notion of stereotypes is often considered
as a short cut, points to the manner in which stereotypes are a very simple, striking, easily
grasped form of representation. Nonetheless, such a notion is less capable of condensing
a great deal of complex information and connections. Often, the observed simplicity of
stereotypes is deceptive.

Frafafe T o aryde ey ok Fwfta ue wst ¥ Sw o :

Fe YRV Wied Hidsl & iied AR &I Uh Wel g, ol 849 99R ¥ Ui &d
R il T7ad U 929 &Y B eldl | 3 JAIS & ARl & WiaHide R FeL0 $3d 8l
4 g q&ul, Ufaeal 3R ufadieul & d1ed O 39 99 & 9 § i R §91d B
d d& [ Bz THdl & & S9R ¥ Ay ©u U 33 aafde siied [dedH & S 9Hd &
THa URGRIl ¥49 U 3guiied gidl ¢ <R Iu®! dwpid ¥ 5l fa1 ol SiéArs & ouad
DI Id 21 HEHT B g8 Tafal oo T¢ yRumsl &1 I9gnT THd 8, Harddr &9
STt &1 99 g uRerd &1 98 39 Ufafy &1 4T 8, e 99 o 9R § 4RO @1
it S 8 3R 39 bR 3uH @f [Aftfa ud HAfHd swar 81 U it gt ifde
IR A & g sue o 9% T8 6 T oW B Sif¥E 99 % I 6l gl g
g g8 qul 3 o e 8l 81 auifd, 39 uftdal § ¢ yrunsi & 9Rr o &l guwnd 8l
Ugdil & drdidmd] Gael sfaiyd yifd | 3ud fodl faey sogwn of gofar deeht gr=ar =nfia
2| 98 39@! drefl R HifRradrei quT 39! GIuadl 3R gRad-iadl &l 94 9 SoR 8
O IO 08 & % 98 9 %ad 3e™ @1 Sd &, Sicd J8 39 999 & Adid i
Taet @t +f uefia a1 51 T¢ YR, wfeawren 31 gR1 99 # AR &1 91l & 3R
Tg O YT iea & Ifafed 8 ot 81 o yRonsi @ ufge g & siarfd wma
JU HF T § o i 39 Oy © § forge dre0d § ¢ YR ufafiftd & W,
AHBUS AR AqdIUD Wed @i eidl g1 b o, T gruar SR Sfed ga-r R
YT & Wy U ¥ guid & § 3y gidl 31 U T YRt &f fGers ¢ arclt
WA YHE Bl &

The passage attempts to describe




(1) The simplicity of stereotypes
(2) The social need for stereotypes
(3) The importance of absolute knowledge

(4) The complex nature of stereotypes

Ug e fnd aftfd & &1 varg &ar g 2

(1) F¢ YRUISH B TRed]

(2) &¢ YR & U grTfed Hggddl
(3) UXH FH T HEd

(4) ©¢ YRUNS B Siicd Fpid

1[Option ID=22797]
2[Option ID=22798]
3[Option ID=22799]
4[Option ID=22800]
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The ILO Minimum Age Convention (MAC) stipulates a general minimum age of a

child employment of not less than years.

(1) 14
(2) 15
(3) 16
(4) 17

SIRAPI 4 16 & Gad 1Y 3ifHEHT § I ¢ 1o sl & e &1

U= a9 3G 9 S gR T

(1) 1439
(2) 15d4
(3) 1634
(@) 1734

1[Option ID=23201]
2[Option ID=23202]
3[Option ID=23203]
4[Option ID=23204]
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How many 'goals’ are there in Sustainable Development Goals 20307

(1) 15
(2) 18
(3) 16
(4) 17




